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1TEX 1T B X 4 B LS gt o ATEX 17T B X 4 B LS it A [ TEIX 17T B X 4 5 LS it A
1A 82 96 178 51 201 | &7 EREp 373 409 782 299 36 |BHABEN 645 654 1,299 354
(0 1) ( 1) (—TH) 2) NniC 3 (STH) (0 1) 1)
pALUN = 378 390 768 300 202| &7 R D 670 708 1,378 568 N7FHAEEL 4 2 6 2
(0| C 5 C b5 (ZTH) 3) 2 ( 5 (ETH) (. olC 0 0)
3| HTH 75 86 161 52 203 |'& /7 AR 579 582 1,161 448 318 |BHABEEIN 0 0 0 0
(ol 0 C o0 (=TH) 1) 2 3 U\TH) (. olC 0 0)
4B 344 420 764 328 204 |8 /7 AR 487 524 1,011 395 321 | HEE— 12 10 22 6
(ol 0 C o0 (MTH) 2) 2 4 (— T H1~4%F) (. 0olC 0 0)
5— /B4 69 60 129 37 211 |k 417 413 830 327 322| X HE— 219 228 447 140
(ol C 0 C o0 (—TH) 0) 1) ( 1) (7T H43) C 21C 2 4)
6| —/F4 86 85 171 51 212 |kt 221 249 470 179 323 | HE— 701 684 1,385 407
(0]« 1) ] ( 1) (ZTH) 0) 0 C 0 (=T H43) C 221C 4 6)
7= B4 159 158 317 106 213 |kt 280 250 530 184 324 | HEE 387 390 177 275
(ol 0 C o0 (=TH) 0) 0 C 0 (WTH1~17&#) | (0| ( 0 0)
8|EFH 161 153 314 102 214 |k 360 379 739 300 325 | HEE — 683 704 1,387 409
(0 1) ] ( 1) (MTH) 0) 0 C 0 (H T H43) ( N, C 2 3)
9| gt H 50 42 92 27 221 | BT DOY—TH 588 611 1,199 426 326 | HE— 345 382 727 208
( 0 ( 1) | ( 1) 0) 0| o0 (NTH1~17FH) | ( 0) | ( 1) 1)
105 66 62 128 38 222 | BHITDOY T H 708 697 1,405 501 327 | HEE = 888 914 1,802 520
(ol 0 C o0 1) 2 3 (ET H4) (. 0olC 0 0)
11| K= 44 46 90 23 223|BHITOY=TH 844 827 1,671 608 328 |k M = 239 249 488 159
(Ol 0/ 0 0) 1) | ( 1) O\T H 43) (. olC 0 0)
12|45 5% 103 91 194 53 231|HEE—TH 621 654 1,275 443 329|pk M = 4 4 8 5
(0]« 1) ( 1) 0) 0| C 0 (LT H 48%) (. olC 0 0)
13 K& 45 49 94 23 232|HEE-TH 801 843 1,644 570 331 | A HEE 2 11 13 13
(ol 0 C o0 2) 4) | (. 6) (— T H5~8%h) (. 0olC 0 0)
14 A FH 85 87 172 45 233|HER=TH 371 389 760 259 334 | HEE = 420 411 831 302
(ol 0 C o0 0) 1) 1 ( 1) (UTH18~28%H) | ( 2) | ( 3) 5)
15/8A 101 78 179 50 241 | BTG — 427 439 866 266 336 | HEE — 459 480 939 267
(ol 0 C o0 0) 2 2 OSTH18~35%#)| (- 0) | (. 0) 0)
16| P& 1% 104 122 226 62 242 |1 T54E — 230 225 455 133 401| ERAA—TH 632 662 1,294 399
(0 1) ( 1) 1) 0) | ( 1) ( 4 ( 1) 5)
20 [TE K fh 269 268 537 184 301 [ RAGEHE— 436 484 920 355 402 ERAARTTH 0 0 0 0
(ol 0 C o0 (—TH) 0) 0 C 0 (0l C 0 0)
101 | K74 333 364 697 255 302 RIAEEH— 421 457 878 349 411\ KiGAK—TH 699 715 1414 402
(—TH) ( 1) ( NniC 2 (ZTH) 1) 0) | ( 1) (5 |1C 9 10)
102 | K74 274 285 559 205 303 HGH = 542 603 1,145 442 412 KGR —TH 339 359 698 215
(ZTH) (ol 0 C o0 0) 2 2 ( 1) | ( 1) 2)
111 O&hE—TH 820 850 1,670 615 304 A GE Y =— 1Y 158 189 347 162
( 5] C 3. C 8 0) 3 3
M2/ 0&0ETH 485 445 930 368 M |\BFHABEE— 574 628 1,202 408
(0 ( 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 269 248 517 159 312\BHABE 483 523 1,006 318
(ol 0 C o0 (ZTH) 0) I C 3
140|LHDR 207 195 402 151 NI FAEE= 667 687 1,354 404
(—TH) ( 1) ( NI 2 (=TH) 1) 2 3
141 | HOR 48 59 107 40 M4 BHABRE= 206 210 416 143
(—TH) (ol C 0 C o0 (MTH) 3) 2 ( 5
142\ L H0R 343 355 698 259 5 HAREL 1,089 1,034 2,123 667
(ZTH) (. 2/C 6, 8 (MWTH,EZTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ A& ] B 24231 A % 24967 A 5t 49,198 A 16,821 tH
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 44) ( 74) ( 118)
SOIEAAM 1X, BT FATEIX I & o0, EBNCEFFLTVET, [ ATAXRE ] 5 24234 A T 24961 A &t 49,195 A 16,798 7
[ &) B —-3A Z 6 A O3 A 23 HE




